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PERCENTAGE OF POPULATION UNDER AGE 15
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Source: Population Reference Bureau, prb.org, 2015 World Population Data Sheet
Average number of years of life for both men and women

1. Which continent has the largest percentage of population under age 15? Circle: Africa Australia South America
2. What country has the smallest percentage of people under age 15? Circle: Canada China Japan United States

3. Write T (true) by the most plausible reason why a country has a large percentage of children under age 15.
___Many people are likely to wait until after they finish college before getting married.
___Farmers want large families in order to have more help with planting and harvesting.

4. Current events connection: China and India have about the same population in 2015.
Which country is likely to be larger in 2040?  Circle: China India

Why do you think so?

5. Map comparison discussion question. What other map shows the most likely the cause of the pattern on this map?
Circle: Income per person  Average Life Expectancy Percent of People Working on Farms  Lifetime Children per Woman




